MAP 4175/ 5177 Name: KE Y

Quiz 10 Date: November 4, 2015

Show all work for full credit, and use correct notation. Simplify answers completely.

1. Given a double decrement model with constant forces ,uj(( = 0.1 and u(z) =0.2,
determine
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2. Given a double decrement model where decrement 1 is BOY and q;(l) = 0.1, and for

decrement 2, u,(cz) = 1.2, determine q,(c and q(?‘).
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3. Given a double decrement model where decrement 1 is EOY and q;m = 0.1, and for
decrement 2, ;1,((2) = 1.2, determine qil) and qfcz).
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4. For a four decrement model (whoa!!), decrement 1 is EOY and q;(l) = 0.1, decrement 2

is BOY and q;(z) = 0.2, decrement 3 is MOY and q;m = 0.3, and departures from
decrement 4 occur continuously throughout the interval from time 0 to time 1.

Given 0>5p;(4) = (.5, determine qf).

() 0! /(D ((Y) /(3
@X oM => C{)’X = "B( 5 FX Y @( ’ 2’)(

5

= () () (s) D

(3
:::.» %X - ZQ



